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One who constructs two heddles — 797%1 %02 W RNYR

OVERVIEW

The mwn, when enumerating the nixH» v"9, chose certain MoXYn, where it
indicated by them exclusively, what is the M@ to be 2n for doing these MaRoM,
but not by the rest of the mMax?n. Our MHYIN requires an explanation for this.
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There is a need to explain why the mwn specified here (regarding the 1°7°1 °n2)
and by weaving and by severing and by sewing and by writing, a

measurement, more that the rest of the max?» max, where the mwn does not give their
7v°w, how much is necessary to do in order to be 2.

SUMMARY
Why write the 2w only by certain max».

THINKING IT OVER

Perhaps the reason the miwn mentions only these max?n, for these are the only
moxYn, where it is necessary to do two things in order to be 2>°11, whereas by all the
other MoXY7 it is one thing (but it needs a certain amount).?

" All the other maxYn have My as expounded in the X3, why mention the 2>y w for only these five (seven)
NIRYA.
2 See 7" '01n (and AR NOWY MR 1R).
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